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1 5 5h JERS X H R A= 5 4 it
2 F[H 5k JER X H R A= 5 5 it
3 [ 3 AT B R s A 5 5 fiit
4 5 5h JER X H R A= 5 7 i
5 - [H 5k JER X H R A= 5 6 it
6 4 [ 55 oA B R s A 5 9 fiit
1 £EFE JEAT [ AR U A 5 4 fit
2 FEEE YRS B R s A 5 5 ffit
3HEEE JEART B R s 5 5 it
4 EET YRS B R R s A 57t
5HFEEE YRS B R R s A 5 6 it
6 FEE AT B AR U 2 A 5 9 fiir
3t A R A& AL 5 5 fiit
4 e A R A &AL 57 it
5tk A H R At 5 6 it
6 Ffhs A R U At 5 9 fit
3 AR X T ES 5 5 fiit
1AERE TR ER A A 5 4 it
2 R TR E A 5 5 fit
3R TR E A 5 5 fit
4RI TR ER A A 5 71
5 R TR E A 5 6 fit
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6 FEHL AL E R A AL 5 9 fiit
6 FHE (BEH) | FRMERASH 5 9 fiit
1 AT A HRR A AL 5 4 fit
3 4R FORE R A AL 5 5 ffit
4 AE PR} FOERER A 5 7 it
5 4 ELR FOLERER A 5 6 fiit
6 4= HLA} FURE R A AL 5 9 fiit
149 38 A kit 5 4 fiit
2 I MR 2F 2t 5 5 fiit
BREESE S A U At 5 5 it
4 FEE R Rt 2F 2t 5 7 fit
5 4 g 2E R 4 5 6 fiit
6 5 4 RSB i L 5 9 fiit
1R T H AR SCH U IR U+ 5 4 fiir
34X T H AR SCH U IR U+ 5 5 it
54T H A ST iR U 5 6 fit
5 FBE BR P St Y RRORR s+ 5 6 it
1 ARJE T BRE A SERE 5 5 it
2 FEIETE 4 Gakken 5 5 it
3 43 1 PRE A SERE 5 5 it
4 HEETE 4 Gakken 57 i
5 fEETE RSt SCERE 5 6 ffit
6 4 IE S 4 Gakken 5 9 it
3 R f R 2 H: Gakken 5 5 ffit
5 - f R4t Gakken 5 6 it
54 Jeal AT B AR S 2 A 5 6 it
6 4 S ik BR B St Y RRORE s+ 5 9 fiit
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1 4F =35 JEAT B HH IR 2+ 3 5 it
LVREEGET—7 v — b | R RE RS A 3 5 fiit
2 FEE JEAT B HH IR S+ 3 6 it
HEEFEY —7 v— b | A E R s At 3 6 it
3 4 [EFE JEAT B H R s A 3 6 fiit
SEEFY—7 v— b | R E R 3 6 fit
4 5 5h JER X E H R A= 1 3 8t
AFEEREY —7 — b | e R E R A A 3 8 fit
5 - [H 5k JER X E R A= 1 3 7
SEEFY—7 v— b | R E MR 3 7 fit
6 4 [ 35 JEAT B H R s A 4 0 fit
6 EEGEY —7 — b | e E RS A 4 0 fit
14EEE YRS B R R s A 191
2HEEE JEART B HH IR S+ 19 it
3HEEE YRS B R s A 191
44EEE YRS B R R s A 191
5HEEE JEART B HH IR S+ 19 it
6 FEH G YRS B R s A 191
3 Ffh HE MR =1 3 6 it
4tk A H sk At 3 8 it
5 4 A R U A 3 7 fit
6 Ffhs A R U A 4 0 it
3 AR HRIX R A E e 19t
1R TR E A 3 5 fit
2 FE R TR E A 3 6 fit
3R TR ER A A 3 6 it
4 R TR E R A 3 8 fit




5 AERL AL E R A AL 3 7 fit
6 F 5 AL FEH A S A 4 0 fiit
1 AT A HRR A AL 19 fit
3 FEF FOUERER US4 3 6 fiit
4 FHER} FOXERR S AL 3 8 ffit
5 AEHF FOR EEER a4 3 7
6 B FOUERER US4 4 0 ffit
1 AR % 2E R 4 19 it
2 I MR 2F 2t 191t
3G A U At 191
4 FEE R Rt 2F 2t 191t
5 454 2E R 4 19 it
6 45 34 A AL HCE it 191
14T H A SCEH ok A= 14 19 fit
3 AR T H A SCEH ok A=tk 1 9 it
54T H A ST iR U 1 9 fiit
5 FEFiE Bl 2 an)i T eSS S 3 8 fit
1 4EE T (e ' 1 9 it
2 FEIETE 24 Gakken 19 fit
3 AFIE T [ I ' 1 9 it
4 HEETE 4 Gakken 19
5 fEETE RSt SCERE 191
6 4 IE S 4 Gakken 19
3 R f R 2 H: Gakken 1 9 it
5 FE IR f PR & fh Gakken 1 9 it
5 HEHGh JEAT B E H ok A= 1k 3 7 it
6 o FE BF P A HH Rk A Ak 4 0O fiit
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